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The primary purpose of the passage is to------ 9

The auther is primarily concerned withes«+-- ?
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The author mentions which of the following?

According to the author--- - ?

‘The author provides information that would answer which of the following questions?

B B LERLEH FE
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The author develops the passage primarily by«--+.- 7 -

The author proceeds primarily by«e.-.
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The author mentions+++++-in order to-+

Which of the followmg best explains why the author 51 roduceseseaes?
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The passage implies that»=--+-
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It can be inferred from the passage that--« -«
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PRACTICE ONE
Time— 30 minutes
38 Questions

Directions: Each sentence below has one or
two blanks. each blank indicating that some-
thing has been omitted. Beneath the sentence
are five lettered words or sets of words.
Choose the word or set of words for each
blank that Pf_s.t. fits the meaning of the sen-

tence as a whole,

1. Physicists rejected the innovative experi-
mental technique because, although it

some problems, it also produced

new .

A. clarified —data

B. ‘eased—interpretaﬁons'
C. resolved—complications
D. caused— hypothzses

E. revealed—inconsistencies

2. During a period of protracted illness, the
sick can become infirm, both the
strength to work and many of the specific

skills they once possassed.
A. regaining

B. denying
C. pursuing
D. insuring
E.

losing

3. In parts of the Arctic, the land grades into
the landfast ice so that you can

walk off the coast and not know you are
over the hidden sea.

A. permanently

B. imperceptibly

C. irregularly

aDQ

D. precariously

E. slighdy

GE)

imperceptible a. MRy, MELEY
precarious a. REEH, RN

Kagan maintains that an infant's reactions

_to its first stressful experiences are part of

a natural process of development, not
harbingers of childhood unhappiness or
____ signs of adolescent anxiety,

A. prophetic

B. normal

C. monotonous

D. virtual

E. typical

G

harbinger ». %I, Wk, &£47H

In the machinelike world of classical
physics, the human intellect appears
, since the mechanical nature of classi.

cal physies does not creative rea-

soning, the very ability that had made the
formulation of classical principles possi-
ble.

A. anomalous—allow for

B. abstract—speak to

C. anachronistic—deny

D. enduring—value

E. contradictory —exclude

GE
anomalous a. B¥M. B, AR
anachronistic a. RHt&%EK



6. During the 1960"s assessments of the fami-
ly shifted remarkably, from general en-
dorsement of it as a worthwhile, stable in-
stitution to widespread __itasanop-

pressive and bankrupt one whose

was both imminent and welcome.
flight from— restitution

fascination with-- corruption

0w

rejection of — vogue

censure of —dissolution

M

. relinquishment of —ascent

GiEd ‘

restitution n. JHif, K§e
relinquishment 7, BF, 2k, #WE

7. To have true disciples, a thinker must not
be too : any effective intellectual
leader depends on the ability of other peo-
ple to thought' processes that did
not originate with them.

A. populér—dismiss

B. methodical —interpret

C. idiosyncratic —reenact

D. sélf -confident — revitalize

E. pragmatic —discourage

GE)

idiosyncratic a. #5#kay, B

Directions; In each of the following questions,
a related pair of words or phrases is followed
by five lettered pairs of words or phrases, Se-
lect the lettered pair that best expresses a rela-
tionship similar to that expressed in the origi-

nal pair,

8. ADULT : CHILD ::
A. horse ; mare
B. cat : kitten
", swine ; sow

C
D. human : animal

E. cow : herd

9. FIRE : INFERNO ::
speech : shout
wind ! temperature
storm : hurricane

whale : minnow

Mmoo W e

. piar}t . flower
$:3
INFERNO n. s, BtEg

minnow 7. AL/

10. BODYGUARD : PERSON ::
A, police officer : waffic
B. teacher ; pupil
C. mayor ; city
D. soldier : country
E

. secretary : office

11. PITCH : SOUND ::
A, color : light
B. mass : weight
C. force : pressure
D. energy : heat '
E

. velocity : time

12. DISCOMFITED ; BLUSH ::

A. nonplussed : weep

B. contemptuous : sneer
.C. affronted : blink

D. sullen : groan

E. aggrieved : gloat

GEJ

DISCOMFIT v. #7m, %, £
BLUSH v. 4, o

13. GUSH : EFFUSIVE ::
A, exult : honest
B. deliberate ; secretive

C. giggle : innocent



-

D. rage :irate

E. whisper : confidential
GE)

GUSH v W, msH®

14. PERORATION : SPEECH ::
A. tempo : movement
B. figure : portrait
C. light : shadow

D. verse : stanza

E. coda : sonata

GEd

stanza n ¥, WHHE, B, &
sonata n. ZEMh

15. EMBARRASS ;: MORTIFY ::
A. adumbrate : insinuate
B. indulge : mollycoddle
C. aggrandize : venerate
D. relent : deflate
E. upstage : demoralize
D
adumbrate v. 4@, BE, HF
mollycoddle n &%, g

16. DISTILL : PURITY ::
A, leaven : volume
B. pulverize : fragility
C. absorb : brilliance
D. homogenize : fluidity
E. conduct : charge

Directions: Each passage in this group is
followed by questions based on its content.
After reading a passage, choose the best an-

swer to each question. Answer all questions

following a passage on the basis of what is .

stated or  implied in that passage.

The belief that art originates in intuitive

rather than rational faculties was worked out
historically and philosophically in the some-
what wearisome volumes of Benedetto Croce,
who is usually considered the 'originator of a
new aesthetic. Croce was, in { ;;ct, expressing
a very old idea, Long before the Romantics
stressed intuition and self-expression , the fren-
zy of inspiration was regarded as fundamental
to art, but philosophers had always assumed it
must be controlled by law and by the intellec-
tual power of putting things into harmonious
order. This general philosophic concept of art
was supported by technical necessities. It was
necessary to master certain laws and to use in-
tellect in order to build Gothic cathedrals, or
set up the stained glass windows of Chartres,
When this bracing element of craftsmanship
ceased to dominate artists’ outlook, new tech
nical elements had to be adopted to maintain
the intellectual element in art. Such were lin.
ear perspective and anatomy.

GEd

aesthetic a. ZEaEHy. WM, LAM

cathedral n. K ¥

17. The passage suggests that which of the {ol-
lowing would most likely have occurred if
linear perspective and anatomy had not
come to influence artistic endeavor?

A. The craftsmanship that shaped Gothic
architecture would have continued to
dominate artists’ outlooks,

B. Some other technical elements would
have been adopted to discipline artistic
inspiration,

C. Intellectual control over artistic inspira-
tion would not have influenced paint-
ing as it did architecture,

D. The role of intuitive inspiration would

not have remained fundamental to
3



theories of artistic creation,
E. The assumptions of aesthetic philoso-
phers before Croce would have been

invalidated.

18. The passage supplies information for an-
swering which of the following question-
s?

A. Does Romantic art exhibit the tri-
umph of intuition over intellect?

B. Did an emphasis on linear perspective
and anatomy dominate Romantic art?

C. Are the intellectual and intuitive fac-
ulties harmoniously balanced in post-
Romantic art?

D. Are the effects of the rational control
of artistic inspiration evident in the
great works of pre-Romantic eras?

E. Was the artistic craftsmanship dis-
played in Gothic cathedrals also an
element in paintings of this period?

19. The passage implies that which of the fol-
lowing was a traditienal assumption of
aesthetic philosophers?

A. Intellectual elements in art exert a
necessary control over artistic inspi-
ration,

B. Architecture has never again reached
the artistic greatness of the Gothic
cathedrals, *

C. Aesthetic philosophy is determined by
the technical necessities of art,

D. Artstic craftsmanship is more impor-
tant in architectural art than in picto-
rial art,

E. Paintings lacked the intellectual ele-
ment before the invention of linear

perspective and anatomy.

ihe author mentions “linear perspective
and anatomy” in the last sentence in or-
der to do which of the {ollowing?
A. Expand his argument to include paint-
ing as well as architecture
B. Indicate his disagreement with Croce’
s theory of the origins of art
- C. Support his point that rational order
of some kind has often seemed to
discipline artistic inspiration
D. Explain the rational elements in
Gothic painting that corresponded to
craftsmanship in Gothic architecture
E. Show the increasing sophistication of
artists after the Gothic period

The evolution of sex ratios has pro-
duced, ,in most plants and animals with sepa-
rate sexes, approximately equal numbers of
males and femnales. Why should this be s0?
Two main kinds of answers have been of-
fered. One is couched in terms of advantage to
population, It is argued that the sex ratio will
evolve so as to maximize the numbers of
meetings between indiviuuals of the opposite
sex. This is essentially a “group selection” ar-
gument, The other, and in my view correct,
type of answer was first put forward by Fish-
er-in 1930. This “genetic” argument starts
from the assumption that genes can influence
the relative numbers of male and female off-
spring produced by an individual carrying the
genes. That sex ratio will be favored which
maximizes the number of descendants an indi-
vidual will have and hence the number of
gene copies transmitted, Suppose that the pop-
ulation consisted mostly of females. then an
individual who produced sons only would
have more grandchildren. In contrast, if the

population consisted mostly of males, it would



pay to have daughter.s. 1f, however, the popu-
lation consisted of equal numbers of males and
females, sons and d‘avug'hters would be equally
valuable. Thus a one-to-one sex ratio is the
only stable ratio;it is an “evolutionarily stable
strategy. ” Although Fisher wrote before the
mathematical theory of games had been devel-
oped, his theory incorporates the essential fea-
ture of a game— that the best strategy to adopt
depends on what others’ are doing.

Since Fisher's time, it has been realized
that genes.can sometimes influence the chro-
mosome Or gamete in which they find them-
selves so that the gamete will be more likely to

participate in fertilization. If such a gene oc-

curs on a sex-determining (X or Y) chromo-
some, then highly aberrant sex ratios can oc-
cur. But more immediately relevant to_game
theory are the sex ratios in certain in parasitic
wasp species that have a large excess of fe-
males. In these species, fertilized eggs develop
into females and unfertilized eggs into males.
A female stores sperm and can determine the
sex of each egg she lays by fertilizing it or
leaving it unfertilized. By Fisher's argument,
it should still pay a female to produce equal
numbers of sons and' daughters, Hamilton,
nothing that the eggs develop within their
host—the larva of another insect—and that
the newly emerged adult wasps mate immedi-
ately and disperse, offered a remarkably co-

gent analysis. Since only one female usually ‘

lays eggs in a given larva, it would pay her to
produce one male only, because this one male
could fertilize all his sisters on emergence,
Like Fisher , Hamilton looked for an evolution-
arily stable strategy, but he went a step fur-
ther in recoguizing that he was looking for a
strategy.

21. The author suggests that the work of Fish-
er and Hamilton was similar in that both
scientists
A. . conducted their research at approxi-
mately the same time

B. sought to manipulate the sex ratios of
some of the animals they studied

C. sought an explanation of why certain
sex ratios exist and remain stable

D. studied game theory, thereby providing
important groundwork for the later de-
velopment of strategy theory

E. studied reproduction in the same animal

species

22. It can be inferred from the passage that
the author considers Fisher’s work to be
A. fallacious and unprofessional
B. definitive and thorough
C. inaccurate but popular, compared with
* Hamilton's work
D. admirable, but not as up-to-date as
Hamilton's work
E. accurate, but trivial compared with
Hamilton's work
23. The passage contains information that
would answer which of the following
questions about wasps?

[ . How many eggs does the female
wasp usually lay.in a singlé host
larva?

I'. Can some species of wasp determine
sex ratios among their offspring?

I . What is the approximate sex ratio a-

mong the offspring of parasitic

wasps?
A, 1 only
B. 1 only
C. 1 only

(2]



